Intervals
Name the interval
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Is this a minor 3rd. because the notes are in the D triad chord. DF#A  so  the first note is D   and second is on the  F which  would be a  D minor part triad making it a b3 – minor ?
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G to E   How is this   counted.   E back to G or G forward to E
G A B C D E  because there are semitones how do we count it? 

G G# A A# B C C# D D# E  so this makes it a minor 6?
1        2       3      4      5    semitone 6  
[bookmark: _GoBack]But they say the answer is major 6. How is it possible? 
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